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3. Corrections to EUTRA MAC test case 7.1.3.2
Change 1 – Correction to function ’f_TC_7_1_3_2_EUTRA’
	Function name
	f_TC_7_1_3_2_EUTRA ()

	Reason for change
	Timing adjustments in steps 4, 6, 9, 10a, 16, 18, 21, 23, 25, 30, 32 do not consider HSFN.

	Summary of change
	Corrected timing adjustments to consider HSFN.

	TTCN module
	MAC_713.ttcn

	MCC160 Comment
	Accepted in principle. The proposed solution is in principle wrong as a ‘v_TimingY.Subframe.Number +’ shall not be present, but further division by 10 nullifies this error as subframe is always between 0 and 9 and tsc_SPS_SchedInterval is 40 a multiple of 10.
Also the function f_EUTRA_TimingInfoSFN_Add does not exist in ETSI TTCN.

Implemented as shown below using function f_EUTRA_NB_TimingInfoAdd.


Before  change
…
function f_TC_7_1_3_2_EUTRA ( ) runs on EUTRA_PTC

  { /* L2/MAC

     * 7.1.3.2 : Correct handling of DL assignment: semi persistent case

     */

    //@sic R5-110504 sic@

    const C_RNTI tsc_SPS_RNTI := tsc_C_RNTI_Def2;

    const integer tsc_SPS_SchedInterval := 40; //40 Sf the SPS schedule interval

    const integer tsc_SF_Before := 30; //30 Sub frames before

    var integer v_Nack_Count := 0;

    var integer v_Ack_Count := 0;

    var SubFrameNumber_Type v_ULHARQ_SubFrame := 8;

    var SubFrameNumber_Type v_ULHARQ_SubFrame1 := 3;

    var integer v_RetransSchInt := 8; //suitable for FDD

    var integer i;

    var SubFrameTiming_Type v_TimingY;

    var SubFrameTiming_Type v_TimingP;

    var SystemFrameNumber_Type v_ExpectFrameNumber1;

    var SystemFrameNumber_Type v_ExpectFrameNumber2;

    var SystemFrameNumber_Type v_ExpectFrameNumber3;

    var SystemFrameNumber_Type v_ExpectFrameNumber4;

    var SystemFrameNumber_Type v_ExpectFrameNumber5;

    var SystemFrameNumber_Type v_ExpectFrameNumber6;

    var SystemFrameNumber_Type v_ExpectFrameNumber7;

    var SystemFrameNumber_Type v_ExpectFrameNumber8;

    var SystemFrameNumber_Type v_ExpectFrameNumber9;

    var SystemFrameNumber_Type v_ExpectFrameNumber10;

    var octetstring v_EncodedRlcPdu1;

    var template (value) SpsConfigDL_Type v_SpsConfigDL;

    var EUTRA_FDD_TDD_Mode_Type  v_EUTRA_FDD_TDD_Mode;

    var RedundancyVersionListDL_Type v_RVList := {0, 2, 3, 1, 0}; //@sic R5-120268 sic@

    var integer v_ConfHarqProcess;

    var integer v_HarqProcId;

    timer t_Watchdog := 5.0;

    ///////////////////////////////////////////////////////////////////////////////////

    //      PREAMBLE

    //////////////////////////////////////////////////////////////////////////////////

    f_EUTRA_Init (c1);

    v_EUTRA_FDD_TDD_Mode := f_EUTRA_CellInfo_GetFDD_TDD (eutra_Cell1);

    f_EUTRA_CellConfig_Def(eutra_Cell1);    /* @sic R5s150338: f_EUTRA_CellConfig_DefPlusUM replaced by f_EUTRA_CellConfig_Def sic@ */

    f_EUTRA_Preamble(eutra_Cell1, STATE2A_TESTLOOP_ModeA);

    // creates cell and performs registration

    f_EUTRA_AS_CipheringAlgorithm_Set(eea0); // set null AS ciphering algorithm

    f_EUTRA_LoopBackActivation_State4_NoDrx(infinity_, cs_UE_TestLoopModeA_LB_Setup_1DRB(0, tsc_DRB2));  // Initialization, call setup, DRB loopback;

    //@sic R5s120054 R5s150186 sic@

    //DRX is being effectively disabled to avoid interference with SPS scheduling

    // Go to state 4 to return no data in UL

    f_Delay(0.660); // 600 ms previous time alignment timer

    f_EUTRA_StartULGrantTransmissionOnSR_Reception_No_PUCCH_Sync(eutra_Cell1, cs_TimingInfo_Now, cs_DciInfo_CcchDcchDtchUL_Def); // Default grant with no Auto TA timer.

    f_SS_Config1TM_DRB_NoMACHeader(eutra_Cell1, tsc_RbId_DRB2, cs_MAC_TestMode_NoHeaderManipulationDLOnly);

    if (v_EUTRA_FDD_TDD_Mode == FDD) {

      v_SpsConfigDL := cs_SpsConfigDL_FDD;

      v_ConfHarqProcess := 8;

    }

    else {

      v_SpsConfigDL := cds_SpsConfigDL_TDD;

      v_RetransSchInt := 10;

      v_ConfHarqProcess := 7;

    }

    // Default SPS configuration as in specific message contents.

    f_RRC_ConnectionReconfiguration_SPS_Config(eutra_Cell1,

                                               tsc_RRC_TI_Def,

                                               cs_TimingInfo_Now,

                                               cs_SPS_Config_DL(tsc_SPS_RNTI, cs_SPS_ConfigDL_Setup(v_SpsConfigDL)));

    // to configure SS to report reception of HARQ ACK or NACK

    f_Delay(0.1); // 100 ms to complete

    f_SS_ConfigUL_HARQ_IndMode (eutra_Cell1, tsc_L1Mac_IndicationMode_Enable);

    ///////////////////////////////////////////////////////////////////////////////////

    //      Test Body

    //////////////////////////////////////////////////////////////////////////////////

    f_EUTRA_TestBody_Set(true, layer2); // @sic R5-101050 sic@

    //@siclog "Steps 1 - 2" siclog@

    v_TimingY := f_EUTRA_GetNextSendOccasion(eutra_Cell1,480); //480 to 520 ms in advance

    //   v_UL_HARQ_SFN:= v_TimingY.SFN.Number; // Frame number of

    v_TimingY.Subframe.Number := 4; // Will result in HARQ ack in Sub frame 8 for FDD and TDD default configuarations

    v_ExpectFrameNumber1 := v_TimingY.SFN.Number;

    f_SS_ActivateSPS_Grant (eutra_Cell1,

                            cs_TimingInfo(v_TimingY),

                            cs_DL_SPSInfo (tsc_SPS_RNTI,

                                           cs_SpsAssignmentDL (cs_DciDLInfo_Explicit (cs_DciDlInfoExplicit(3,

                                                                                                           dci_1A,

                                                                                                           ra_2_Localised,

                                                                                                           8,

                                                                                                           5,{v_RVList[0]})),//@sic R5-120268 sic@

                                                               v_SpsConfigDL)));

    //Nprb =8, Imcs =3=Itbs TBsize =55 bites =440

    // 50B PDCP SDU + 2B PDCP H + 2B RLC H + 1B MacSH = 55B =440

    // As GCF priority 2, then DCI format 1 RA 0 is used for UE specific.

    v_EncodedRlcPdu1 := f_RLC_PDU_Encvalue (cs_RLC_UMD_1PDU(0,

                                                            f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN0, crs_PDCP_SDU_L50)))));

    DRB.send (cads_DRB_COMMOM_REQ_MAC_PDU_NoCRNTI_Grant (eutra_Cell1,

                                                         tsc_RbId_DRB2,

                                                         cs_TimingInfo(v_TimingY),

                                                         cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID( tsc_LchId_DRB2, v_EncodedRlcPdu1))));

    //@siclog "Step 4" siclog@

    v_TimingY.SFN.Number := (v_TimingY.SFN.Number + ((v_TimingY.Subframe.Number + tsc_SPS_SchedInterval)/10)) mod 1024;

    v_ExpectFrameNumber2 := v_TimingY.SFN.Number;

    v_EncodedRlcPdu1 := f_RLC_PDU_Encvalue(cs_RLC_UMD_1PDU(1,

                                                           f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN1, crs_PDCP_SDU_L50)))));

    DRB.send (cads_DRB_COMMOM_REQ_MAC_PDU_NoCRNTI_Grant(eutra_Cell1,

                                                        tsc_RbId_DRB2,

                                                        cs_TimingInfo(v_TimingY),

                                                        cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID( tsc_LchId_DRB2, v_EncodedRlcPdu1))));

    //@siclog "Steps 6 - 7" siclog@

    v_TimingP.SFN.Number := (v_TimingY.SFN.Number + ((v_TimingY.Subframe.Number + tsc_SPS_SchedInterval- tsc_SF_Before)/10)) mod 1024;

    v_ExpectFrameNumber3 := v_TimingP.SFN.Number;

    v_TimingP.Subframe.Number := v_TimingY.Subframe.Number;

    v_TimingP.HSFN.Number := v_TimingY.HSFN.Number;  //@sic R5s160738 sic@

    f_SS_ActivateSPS_Grant (eutra_Cell1,cs_TimingInfo(v_TimingP),

                            cs_DL_SPSInfo (tsc_SPS_RNTI,

                                           cs_SpsAssignmentDL (cs_DciDLInfo_Explicit (cs_DciDlInfoExplicit(3,

                                                                                                           dci_1A,

                                                                                                           ra_2_Localised,

                                                                                                           8,

                                                                                                           5,{v_RVList[0]})),//@sic R5-120268 sic@

                                                               v_SpsConfigDL)));

    v_EncodedRlcPdu1 := f_RLC_PDU_Encvalue (cs_RLC_UMD_1PDU(2,

                                                            f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN2, crs_PDCP_SDU_L50)))));

    DRB.send (cads_DRB_COMMOM_REQ_MAC_PDU_NoCRNTI_Grant (eutra_Cell1,

                                                         tsc_RbId_DRB2,

                                                         cs_TimingInfo(v_TimingP),

                                                         cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID( tsc_LchId_DRB2, v_EncodedRlcPdu1))));

    //@siclog "Step 9" siclog@

    v_TimingY.SFN.Number := (v_TimingY.SFN.Number + ((v_TimingY.Subframe.Number + tsc_SPS_SchedInterval)/10)) mod 1024;

    v_EncodedRlcPdu1 := f_RLC_PDU_Encvalue (cs_RLC_UMD_1PDU(3,

                                                            f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN3, crs_PDCP_SDU_L50)))));

    DRB.send (cads_DRB_COMMOM_REQ_MAC_PDU_NoCRNTI_Grant (eutra_Cell1,

                                                         tsc_RbId_DRB2,

                                                         cs_TimingInfo(v_TimingY),

                                                         cs_MAC_PDUList_1(cs_MAC_PDU_NoPadding_RLCPDU_LCID( tsc_LchId_DRB2, v_EncodedRlcPdu1))));

    //@siclog "Step 10a " siclog@

    // Automatically taken care by SS

    //@siclog "Step 10a - 11" siclog@

    v_TimingP.SFN.Number := (v_TimingP.SFN.Number + ((v_TimingP.Subframe.Number + tsc_SPS_SchedInterval)/10)) mod 1024;

    v_ExpectFrameNumber4 := v_TimingP.SFN.Number;

    v_EncodedRlcPdu1 := f_RLC_PDU_Encvalue (cs_RLC_UMD_1PDU(3,

                                                            f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN3, crs_PDCP_SDU_L50)))));

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                                         tsc_RbId_DRB2,

                                                         cs_TimingInfo(v_TimingP),

                                                         cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID( tsc_LchId_DRB2, v_EncodedRlcPdu1))));

    //@siclog "Step 16" siclog@

    v_TimingP.SFN.Number := (v_TimingP.SFN.Number + ((v_TimingP.Subframe.Number + tsc_SPS_SchedInterval)/10)) mod 1024;

    v_ExpectFrameNumber5 := v_TimingP.SFN.Number;

    v_EncodedRlcPdu1 := f_RLC_PDU_Encvalue (cs_RLC_UMD_1PDU(4,

                                                            f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN4, crs_PDCP_SDU_L50)))));

    DRB.send (cads_DRB_COMMOM_REQ_MAC_PDU_NoCRNTI_Grant (eutra_Cell1,

                                                         tsc_RbId_DRB2,

                                                         cs_TimingInfo(v_TimingP),

                                                         cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID( tsc_LchId_DRB2, v_EncodedRlcPdu1))));

    //@siclog "Step 18 - 19" siclog@

    v_TimingP.SFN.Number:= (v_TimingP.SFN.Number + ((v_TimingP.Subframe.Number + tsc_SPS_SchedInterval)/10)) mod 1024; // app 40 ms in future

    v_ExpectFrameNumber6 := v_TimingP.SFN.Number;

    /* HARQ Process ID = [floor(CURRENT_TTI/(Downlink Semi-Persistent Scheduling Interval))] modulo Number of Configured SPS Processes, */

    v_HarqProcId :=   ( ( (v_TimingP.SFN.Number  * 10)  + v_TimingP.Subframe.Number) /tsc_SPS_SchedInterval )  mod v_ConfHarqProcess ;

    f_SS_ActivateSPS_Grant (eutra_Cell1,cs_TimingInfo(v_TimingP),

                            cs_DL_SPSInfo (tsc_SPS_RNTI,

                                           cs_SpsAssignmentDL (cs_DciDLInfo_Explicit (cs_DciDlInfoExplicit(6,

                                                                                                           dci_1A,

                                                                                                           ra_2_Localised,

                                                                                                           1,

                                                                                                           5,{v_RVList[0]})),

                                                               v_SpsConfigDL)));

    // Nprb = 1, Imcs= Itbs =6; TBsize =328 =41 bytes

    v_EncodedRlcPdu1 := f_RLC_PDU_Encvalue (cs_RLC_UMD_1PDU(5,

                                                            f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN5, crs_PDCP_SDU_L36)))));

    DRB.send (cads_DRB_COMMOM_REQ_MAC_PDU_NoCRNTI_Grant (eutra_Cell1,

                                          tsc_RbId_DRB2,

                                          cs_TimingInfo(v_TimingP),

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID( tsc_LchId_DRB2, v_EncodedRlcPdu1)),

                                          cs_HarqProcessAssignment_Specific (v_HarqProcId)));

    //@siclog "Step 19b - 19c" siclog@

    for (i:=1; i< 4; i:=i+1) //Scheduled 3 retransmissions assuming worst case.

      {

        v_TimingY := f_EUTRA_NB_TimingInfoAdd (v_TimingP, i * v_RetransSchInt);

        f_SS_ActivateSPS_Grant(eutra_Cell1,cs_TimingInfo(v_TimingY),

                               cs_DL_SPSInfo (tsc_SPS_RNTI,

                                              cs_SpsAssignmentDL (cs_DciDLInfo_Explicit(cs_DciDlInfoExplicit(6,

                                                                                                             dci_1A,

                                                                                                             ra_2_Localised,

                                                                                                             1,

                                                                                                             5,{v_RVList[i]})),//@sic R5-120268 sic@

                                                                  v_SpsConfigDL, true))); //Set NDI bit as 1

        DRB.send (cads_DRB_COMMOM_REQ_MAC_PDU_NoCRNTI_Grant  (eutra_Cell1,

                                              tsc_RbId_DRB2,

                                              cs_TimingInfo(v_TimingY),

                                              cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID( tsc_LchId_DRB2, v_EncodedRlcPdu1)),

                                              cs_HarqProcessAssignment_Specific(v_HarqProcId)));

      }

    //@siclog "Step 21" siclog@

    // SS PDCCH for dl_sps explicit release

    v_TimingY.SFN.Number := (v_TimingP.SFN.Number + 3) mod 1024; // app 35 ms in future

    v_ExpectFrameNumber7 := (v_TimingY.SFN.Number + 1) mod 1024;

    v_TimingY.Subframe.Number := 9;

    f_SS_SPS_PDCCH_ExplicitRelease(eutra_Cell1, cs_TimingInfo(v_TimingY), tsc_SPS_RNTI, dci_1A);

    //@siclog "Step 23" siclog@

    v_TimingP.SFN.Number := (v_TimingP.SFN.Number + ((v_TimingP.Subframe.Number + 2 *tsc_SPS_SchedInterval)/10)) mod 1024; // app 80 ms in future

    //@sic R5-120268 sic@

    v_TimingP.Subframe.Number := (v_TimingP.Subframe.Number + tsc_SPS_SchedInterval) mod 10;

    v_EncodedRlcPdu1 := f_RLC_PDU_Encvalue (cs_RLC_UMD_1PDU(6,

                                                            f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN6, crs_PDCP_SDU_L36)))));

    DRB.send (cads_DRB_COMMOM_REQ_MAC_PDU_NoCRNTI_Grant (eutra_Cell1,

                                                         tsc_RbId_DRB2,

                                                         cs_TimingInfo(v_TimingP),

                                                         cs_MAC_PDUList_1(cs_MAC_PDU_NoPadding_RLCPDU_LCID(tsc_LchId_DRB2, v_EncodedRlcPdu1))));

    f_SS_DeactivateSPS_Grant(eutra_Cell1, cs_TimingInfo_SubFrameOffset(v_TimingP.SFN.Number, v_TimingP.Subframe.Number + 5, v_TimingP.HSFN.Number));  // @sic R5w160204r1 sic@

    //@siclog "Steps 25 - 26" siclog@

    v_TimingP.SFN.Number := (v_TimingP.SFN.Number + ((v_TimingP.Subframe.Number + tsc_SPS_SchedInterval)/10)) mod 1024; // app 40 ms in future

    v_ExpectFrameNumber8:= v_TimingP.SFN.Number;

    v_TimingP.Subframe.Number := (v_TimingP.Subframe.Number + tsc_SPS_SchedInterval) mod 10;

    f_SS_ActivateSPS_Grant (eutra_Cell1,

                            cs_TimingInfo(v_TimingP),

                            cs_DL_SPSInfo (tsc_SPS_RNTI,

                                           cs_SpsAssignmentDL(cs_DciDLInfo_Explicit(cs_DciDlInfoExplicit(3,

                                                                                                         dci_1A,

                                                                                                         ra_2_Localised,

                                                                                                         8,

                                                                                                         5,{v_RVList[0]})),

                                                              v_SpsConfigDL)));

    v_EncodedRlcPdu1 := f_RLC_PDU_Encvalue (cs_RLC_UMD_1PDU(6,

                                                            f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN6, crs_PDCP_SDU_L50)))));

    DRB.send (cads_DRB_COMMOM_REQ_MAC_PDU_NoCRNTI_Grant (eutra_Cell1,

                                                         tsc_RbId_DRB2,

                                                         cs_TimingInfo(v_TimingP),

                                                         cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID( tsc_LchId_DRB2, v_EncodedRlcPdu1))));

    //@siclog "Step 30" siclog@

    v_TimingY.SFN.Number := (v_TimingP.SFN.Number + 1) mod 1024;

    v_ExpectFrameNumber9 := v_TimingY.SFN.Number;

    v_TimingY.Subframe.Number := 4;

    //This is to guarantee that HARQ ACK for RLC PDU containing the RLC ACK for RRC connection reconfiguration happens to be in the same frame as step 33

    f_SS_RB_Reconfig_NotAck_NextPDU(eutra_Cell1, tsc_RbId_SRB1);

    f_SendRRC_ConnectionReconfiguration_SPS_Config(eutra_Cell1,

                                                   tsc_RRC_TI_Def,

                                                   cs_TimingInfo(v_TimingY),

                                                   cs_SPS_Config_DL(omit, cs_SPS_ConfigDL_Release));

    // Deactivate SPS Grant 10 ms after transmission of RRC Connection Reconfig releasing SPS grant.

    f_SS_DeactivateSPS_Grant(eutra_Cell1, cs_TimingInfo_SubFrameOffset( (v_TimingY.SFN.Number + 1) mod 1024, v_TimingY.Subframe.Number, ((v_TimingY.HSFN.Number + (v_TimingY.SFN.Number + 1)/1024)mod 1024))); // @sic R5w160204r1 sic@

    //@siclog "Step 32" siclog@

    v_TimingP.SFN.Number := (v_TimingP.SFN.Number + ((v_TimingP.Subframe.Number + 2 *tsc_SPS_SchedInterval)/10)) mod 1024;//@sic R5-120268 sic@

    v_ExpectFrameNumber10:= v_TimingP.SFN.Number;

    v_TimingP.Subframe.Number := (v_TimingP.Subframe.Number + tsc_SPS_SchedInterval) mod 10;

    v_EncodedRlcPdu1 := f_RLC_PDU_Encvalue (cs_RLC_UMD_1PDU(7,

                                                            f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN7, crs_PDCP_SDU_L50)))));

    // Note as UE has no configured SPS-RNTI, transmission of grant by SS will also be neglected by conforment UE

     f_SS_ActivateSPS_Grant (eutra_Cell1,

                            cs_TimingInfo(v_TimingP),

                            cs_DL_SPSInfo (tsc_SPS_RNTI,

                                           cs_SpsAssignmentDL(cs_DciDLInfo_Explicit(cs_DciDlInfoExplicit(3,

                                                                                                         dci_1A,

                                                                                                         ra_2_Localised,

                                                                                                         8,

                                                                                                         5,{v_RVList[0]})),

                                                              v_SpsConfigDL)));

    DRB.send (cads_DRB_COMMOM_REQ_MAC_PDU_NoCRNTI_Grant (eutra_Cell1,

                                                         tsc_RbId_DRB2,

                                                         cs_TimingInfo(v_TimingP),

                                                         cs_MAC_PDUList_1(cs_MAC_PDU_NoPadding_RLCPDU_LCID( tsc_LchId_DRB2, v_EncodedRlcPdu1))));

    // Deactivate SPS Grant

    v_TimingP := f_EUTRA_NB_TimingInfoAdd (v_TimingP, 5); //@sic R5s120119 sic@

    f_SS_DeactivateSPS_Grant(eutra_Cell1, cs_TimingInfo( v_TimingP));

    //@siclog "Step 3" siclog@

    t_Watchdog.start;

    SYSIND.receive(car_UL_HARQ_IND(eutra_Cell1, cr_TimingInfo(v_ExpectFrameNumber1, v_ULHARQ_SubFrame), ack));

    // with DL sub frame 0, the Ack shall be receieved in same Frame

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 3");

    //@siclog "Step 5" siclog@

    SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, cr_TimingInfo(v_ExpectFrameNumber2, v_ULHARQ_SubFrame), ack));

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 5");

    //@siclog "Step 8" siclog@

    SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, cr_TimingInfo( v_ExpectFrameNumber3, v_ULHARQ_SubFrame), ack));

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 8");

    //@siclog "Step 10" siclog@

    // Taken care in default handler

    //@siclog "Step 12-14 Void" siclog@

    //@siclog "Step 15" siclog@

    SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, cr_TimingInfo(v_ExpectFrameNumber4, v_ULHARQ_SubFrame), ack));

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 15: UE sent HARQ ACK ");

    //@siclog "Step 17" siclog@

    SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, cr_TimingInfo(v_ExpectFrameNumber5, v_ULHARQ_SubFrame), ack));

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 17: UE sent HARQ ACK ");

    //@siclog "Step 19a " siclog@

    SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, cr_TimingInfo(v_ExpectFrameNumber6, v_ULHARQ_SubFrame), nack));

    //@siclog "Step 19b-19c" siclog@

    // MAC PDU retransmision and SPS grant retransmission automatically performed by SS

    //@siclog "Step 20" siclog@

    alt {

      []SYSIND.receive(car_UL_HARQ_IND(eutra_Cell1, ?, ack))

        {

          v_Ack_Count := v_Ack_Count +1;

          if ((v_Ack_Count + v_Nack_Count) < 3) {

            repeat;

          }

          else {

            f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 20: UE sent HARQ ACK ");

          }

        }

      []SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, ?, nack))

        {

          v_Nack_Count := v_Nack_Count + 1;

          if ((v_Ack_Count + v_Nack_Count) < 3) {

            repeat;

          }

          else if (v_Ack_Count == 0) {

            f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 20: UE did not send HARQ ACK");

          }

          else {

            f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 20: UE sent HARQ ACK ");

          }

        }

    }

    //@siclog "Step 22" siclog@

    SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, cr_TimingInfo( v_ExpectFrameNumber7,v_ULHARQ_SubFrame1), ack));

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 22: UE sent HARQ ACK ");

    //@siclog "Step 24" siclog@

    // taken care in default handler

    //@siclog "Step 27" siclog@

    SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, cr_TimingInfo(v_ExpectFrameNumber8,v_ULHARQ_SubFrame), ack));

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 27: UE sent HARQ ACK ");

    //@siclog "Steps 28 - 29 void" siclog@

    //@siclog "Steps 31 - 33" siclog@

    alt {

      [] SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell1, cr_508_RRCConnectionReconfigurationComplete(tsc_RRC_TI_Def)))

        {

        }

      [] SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, cr_TimingInfo( v_ExpectFrameNumber9,v_ULHARQ_SubFrame), ack))

        {

          // ack for RRC Connection Reconfiguration PDU.

          repeat;

        }

      []SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, cr_TimingInfo( v_ExpectFrameNumber10,v_ULHARQ_SubFrame), ?))

         {

           f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 33: UE is sending HARQ ACK or NACK");

         }

    }

    alt {

      []SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, cr_TimingInfo( v_ExpectFrameNumber10,v_ULHARQ_SubFrame), ?))

        {

          f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 33: UE is sending HARQ ACK or NACK");

          t_Watchdog.stop;

         }

      [] SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, ?, ack))

        {

          // ack for RLC status PDU for RRC Connection Reconfiguration completePDU.

          repeat;

        }

      [] t_Watchdog.timeout

        {

          f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 33: UE is not sending HARQ ACK or NACK ");

        }

     }

    //test body ends

    f_EUTRA_TestBody_Set(false);

    ///////////////////////////////////////////////////////////////////////////////////

    //      Post Amble

    //////////////////////////////////////////////////////////////////////////////////

    // to configure SS to stop report reception of HARQ ACK or NACK

    f_SS_ConfigUL_HARQ_IndMode (eutra_Cell1,tsc_L1Mac_IndicationMode_Disable);

    f_SS_Config1TM_DRB_NoMACHeader(eutra_Cell1, tsc_RbId_DRB1,cs_MAC_TestMode_NormalMode);

    // To deactivate test loop mode before RRC release

    //@sic R5-103847 Deactivate test loop and open test loop is removed sic@

    // Release RRC Connection and Switch off

    f_EUTRA_Postamble(eutra_Cell1, E3_TESTMODE);//@sic R5-103875 sic@

  } // end of 7.1.3.2

} 
…
After change
…
function f_TC_7_1_3_2_EUTRA ( ) runs on EUTRA_PTC

  { /* L2/MAC

     * 7.1.3.2 : Correct handling of DL assignment: semi persistent case

     */

    //@sic R5-110504 sic@

    const C_RNTI tsc_SPS_RNTI := tsc_C_RNTI_Def2;

    const integer tsc_SPS_SchedInterval := 40; //40 Sf the SPS schedule interval

    const integer tsc_SF_Before := 30; //30 Sub frames before

    var integer v_Nack_Count := 0;

    var integer v_Ack_Count := 0;

    var SubFrameNumber_Type v_ULHARQ_SubFrame := 8;

    var SubFrameNumber_Type v_ULHARQ_SubFrame1 := 3;

    var integer v_RetransSchInt := 8; //suitable for FDD

    var integer i;

    var SubFrameTiming_Type v_TimingY;

    var SubFrameTiming_Type v_TimingP;

    var SubFrameTiming_Type v_ExpectedTiming;
    var SystemFrameNumber_Type v_ExpectFrameNumber1;

    var SystemFrameNumber_Type v_ExpectFrameNumber2;

    var SystemFrameNumber_Type v_ExpectFrameNumber3;

    var SystemFrameNumber_Type v_ExpectFrameNumber4;

    var SystemFrameNumber_Type v_ExpectFrameNumber5;

    var SystemFrameNumber_Type v_ExpectFrameNumber6;

    var SystemFrameNumber_Type v_ExpectFrameNumber7;

    var SystemFrameNumber_Type v_ExpectFrameNumber8;

    var SystemFrameNumber_Type v_ExpectFrameNumber9;

    var SystemFrameNumber_Type v_ExpectFrameNumber10;

    var octetstring v_EncodedRlcPdu1;

    var template (value) SpsConfigDL_Type v_SpsConfigDL;

    var EUTRA_FDD_TDD_Mode_Type  v_EUTRA_FDD_TDD_Mode;

    var RedundancyVersionListDL_Type v_RVList := {0, 2, 3, 1, 0}; //@sic R5-120268 sic@

    var integer v_ConfHarqProcess;

    var integer v_HarqProcId;

    timer t_Watchdog := 5.0;

    ///////////////////////////////////////////////////////////////////////////////////

    //      PREAMBLE

    //////////////////////////////////////////////////////////////////////////////////

    f_EUTRA_Init (c1);

    v_EUTRA_FDD_TDD_Mode := f_EUTRA_CellInfo_GetFDD_TDD (eutra_Cell1);

    f_EUTRA_CellConfig_Def(eutra_Cell1);    /* @sic R5s150338: f_EUTRA_CellConfig_DefPlusUM replaced by f_EUTRA_CellConfig_Def sic@ */

    f_EUTRA_Preamble(eutra_Cell1, STATE2A_TESTLOOP_ModeA);

    // creates cell and performs registration

    f_EUTRA_AS_CipheringAlgorithm_Set(eea0); // set null AS ciphering algorithm

    f_EUTRA_LoopBackActivation_State4_NoDrx(infinity_, cs_UE_TestLoopModeA_LB_Setup_1DRB(0, tsc_DRB2));  // Initialization, call setup, DRB loopback;

    //@sic R5s120054 R5s150186 sic@

    //DRX is being effectively disabled to avoid interference with SPS scheduling

    // Go to state 4 to return no data in UL

    f_Delay(0.660); // 600 ms previous time alignment timer

    f_EUTRA_StartULGrantTransmissionOnSR_Reception_No_PUCCH_Sync(eutra_Cell1, cs_TimingInfo_Now, cs_DciInfo_CcchDcchDtchUL_Def); // Default grant with no Auto TA timer.

    f_SS_Config1TM_DRB_NoMACHeader(eutra_Cell1, tsc_RbId_DRB2, cs_MAC_TestMode_NoHeaderManipulationDLOnly);

    if (v_EUTRA_FDD_TDD_Mode == FDD) {

      v_SpsConfigDL := cs_SpsConfigDL_FDD;

      v_ConfHarqProcess := 8;

    }

    else {

      v_SpsConfigDL := cds_SpsConfigDL_TDD;

      v_RetransSchInt := 10;

      v_ConfHarqProcess := 7;

    }

    // Default SPS configuration as in specific message contents.

    f_RRC_ConnectionReconfiguration_SPS_Config(eutra_Cell1,

                                               tsc_RRC_TI_Def,

                                               cs_TimingInfo_Now,

                                               cs_SPS_Config_DL(tsc_SPS_RNTI, cs_SPS_ConfigDL_Setup(v_SpsConfigDL)));

    // to configure SS to report reception of HARQ ACK or NACK

    f_Delay(0.1); // 100 ms to complete

    f_SS_ConfigUL_HARQ_IndMode (eutra_Cell1, tsc_L1Mac_IndicationMode_Enable);

    ///////////////////////////////////////////////////////////////////////////////////

    //      Test Body

    //////////////////////////////////////////////////////////////////////////////////

    f_EUTRA_TestBody_Set(true, layer2); // @sic R5-101050 sic@

    //@siclog "Steps 1 - 2" siclog@

    v_TimingY := f_EUTRA_GetNextSendOccasion(eutra_Cell1,480); //480 to 520 ms in advance

    //   v_UL_HARQ_SFN:= v_TimingY.SFN.Number; // Frame number of

    v_TimingY.Subframe.Number := 4; // Will result in HARQ ack in Sub frame 8 for FDD and TDD default configuarations

    v_ExpectFrameNumber1 := v_TimingY.SFN.Number;

    f_SS_ActivateSPS_Grant (eutra_Cell1,

                            cs_TimingInfo(v_TimingY),

                            cs_DL_SPSInfo (tsc_SPS_RNTI,

                                           cs_SpsAssignmentDL (cs_DciDLInfo_Explicit (cs_DciDlInfoExplicit(3,

                                                                                                           dci_1A,

                                                                                                           ra_2_Localised,

                                                                                                           8,

                                                                                                           5,{v_RVList[0]})),//@sic R5-120268 sic@

                                                               v_SpsConfigDL)));

    //Nprb =8, Imcs =3=Itbs TBsize =55 bites =440

    // 50B PDCP SDU + 2B PDCP H + 2B RLC H + 1B MacSH = 55B =440

    // As GCF priority 2, then DCI format 1 RA 0 is used for UE specific.

    v_EncodedRlcPdu1 := f_RLC_PDU_Encvalue (cs_RLC_UMD_1PDU(0,

                                                            f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN0, crs_PDCP_SDU_L50)))));

    DRB.send (cads_DRB_COMMOM_REQ_MAC_PDU_NoCRNTI_Grant (eutra_Cell1,

                                                         tsc_RbId_DRB2,

                                                         cs_TimingInfo(v_TimingY),

                                                         cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID( tsc_LchId_DRB2, v_EncodedRlcPdu1))));

    //@siclog "Step 4" siclog@

    v_TimingY := f_EUTRA_TimingInfoSFN_Add(v_TimingY, ((v_TimingY.Subframe.Number + tsc_SPS_SchedInterval)/10)); 

    v_ExpectFrameNumber2 := v_TimingY.SFN.Number;

    v_EncodedRlcPdu1 := f_RLC_PDU_Encvalue(cs_RLC_UMD_1PDU(1,

                                                           f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN1, crs_PDCP_SDU_L50)))));

    DRB.send (cads_DRB_COMMOM_REQ_MAC_PDU_NoCRNTI_Grant(eutra_Cell1,

                                                        tsc_RbId_DRB2,

                                                        cs_TimingInfo(v_TimingY),

                                                        cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID( tsc_LchId_DRB2, v_EncodedRlcPdu1))));

    //@siclog "Steps 6 - 7" siclog@

    v_TimingP := f_EUTRA_TimingInfoSFN_Add(v_TimingY, ((v_TimingY.Subframe.Number + tsc_SPS_SchedInterval- tsc_SF_Before)/10)); 

    v_ExpectFrameNumber3 := v_TimingP.SFN.Number;

    v_TimingP.Subframe.Number := v_TimingY.Subframe.Number;

    v_TimingP.HSFN.Number := v_TimingY.HSFN.Number;  //@sic R5s160738 sic@

    f_SS_ActivateSPS_Grant (eutra_Cell1,cs_TimingInfo(v_TimingP),

                            cs_DL_SPSInfo (tsc_SPS_RNTI,

                                           cs_SpsAssignmentDL (cs_DciDLInfo_Explicit (cs_DciDlInfoExplicit(3,

                                                                                                           dci_1A,

                                                                                                           ra_2_Localised,

                                                                                                           8,

                                                                                                           5,{v_RVList[0]})),//@sic R5-120268 sic@

                                                               v_SpsConfigDL)));

    v_EncodedRlcPdu1 := f_RLC_PDU_Encvalue (cs_RLC_UMD_1PDU(2,

                                                            f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN2, crs_PDCP_SDU_L50)))));

    DRB.send (cads_DRB_COMMOM_REQ_MAC_PDU_NoCRNTI_Grant (eutra_Cell1,

                                                         tsc_RbId_DRB2,

                                                         cs_TimingInfo(v_TimingP),

                                                         cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID( tsc_LchId_DRB2, v_EncodedRlcPdu1))));

    //@siclog "Step 9" siclog@

    v_TimingY := f_EUTRA_TimingInfoSFN_Add(v_TimingY, ((v_TimingY.Subframe.Number + tsc_SPS_SchedInterval)/10));
    v_EncodedRlcPdu1 := f_RLC_PDU_Encvalue (cs_RLC_UMD_1PDU(3,

                                                            f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN3, crs_PDCP_SDU_L50)))));

    DRB.send (cads_DRB_COMMOM_REQ_MAC_PDU_NoCRNTI_Grant (eutra_Cell1,

                                                         tsc_RbId_DRB2,

                                                         cs_TimingInfo(v_TimingY),

                                                         cs_MAC_PDUList_1(cs_MAC_PDU_NoPadding_RLCPDU_LCID( tsc_LchId_DRB2, v_EncodedRlcPdu1))));

    //@siclog "Step 10a " siclog@

    // Automatically taken care by SS

    //@siclog "Step 10a - 11" siclog@

    v_TimingP := f_EUTRA_TimingInfoSFN_Add(v_TimingP, ((v_TimingP.Subframe.Number + tsc_SPS_SchedInterval)/10));
    v_ExpectFrameNumber4 := v_TimingP.SFN.Number;

    v_EncodedRlcPdu1 := f_RLC_PDU_Encvalue (cs_RLC_UMD_1PDU(3,

                                                            f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN3, crs_PDCP_SDU_L50)))));

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                                         tsc_RbId_DRB2,

                                                         cs_TimingInfo(v_TimingP),

                                                         cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID( tsc_LchId_DRB2, v_EncodedRlcPdu1))));

    //@siclog "Step 16" siclog@

    v_TimingP := f_EUTRA_TimingInfoSFN_Add(v_TimingP, ((v_TimingP.Subframe.Number + tsc_SPS_SchedInterval)/10));
    v_ExpectFrameNumber5 := v_TimingP.SFN.Number;

    v_EncodedRlcPdu1 := f_RLC_PDU_Encvalue (cs_RLC_UMD_1PDU(4,

                                                            f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN4, crs_PDCP_SDU_L50)))));

    DRB.send (cads_DRB_COMMOM_REQ_MAC_PDU_NoCRNTI_Grant (eutra_Cell1,

                                                         tsc_RbId_DRB2,

                                                         cs_TimingInfo(v_TimingP),

                                                         cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID( tsc_LchId_DRB2, v_EncodedRlcPdu1))));

    //@siclog "Step 18 - 19" siclog@

        v_TimingP := f_EUTRA_TimingInfoSFN_Add(v_TimingP, ((v_TimingP.Subframe.Number + tsc_SPS_SchedInterval)/10));
    v_ExpectFrameNumber6 := v_TimingP.SFN.Number;

    /* HARQ Process ID = [floor(CURRENT_TTI/(Downlink Semi-Persistent Scheduling Interval))] modulo Number of Configured SPS Processes, */

    v_HarqProcId :=   ( ( (v_TimingP.SFN.Number  * 10)  + v_TimingP.Subframe.Number) /tsc_SPS_SchedInterval )  mod v_ConfHarqProcess ;

    f_SS_ActivateSPS_Grant (eutra_Cell1,cs_TimingInfo(v_TimingP),

                            cs_DL_SPSInfo (tsc_SPS_RNTI,

                                           cs_SpsAssignmentDL (cs_DciDLInfo_Explicit (cs_DciDlInfoExplicit(6,

                                                                                                           dci_1A,

                                                                                                           ra_2_Localised,

                                                                                                           1,

                                                                                                           5,{v_RVList[0]})),

                                                               v_SpsConfigDL)));

    // Nprb = 1, Imcs= Itbs =6; TBsize =328 =41 bytes

    v_EncodedRlcPdu1 := f_RLC_PDU_Encvalue (cs_RLC_UMD_1PDU(5,

                                                            f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN5, crs_PDCP_SDU_L36)))));

    DRB.send (cads_DRB_COMMOM_REQ_MAC_PDU_NoCRNTI_Grant (eutra_Cell1,

                                          tsc_RbId_DRB2,

                                          cs_TimingInfo(v_TimingP),

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID( tsc_LchId_DRB2, v_EncodedRlcPdu1)),

                                          cs_HarqProcessAssignment_Specific (v_HarqProcId)));

    //@siclog "Step 19b - 19c" siclog@

    for (i:=1; i< 4; i:=i+1) //Scheduled 3 retransmissions assuming worst case.

      {

        v_TimingY := f_EUTRA_NB_TimingInfoAdd (v_TimingP, i * v_RetransSchInt);

        f_SS_ActivateSPS_Grant(eutra_Cell1,cs_TimingInfo(v_TimingY),

                               cs_DL_SPSInfo (tsc_SPS_RNTI,

                                              cs_SpsAssignmentDL (cs_DciDLInfo_Explicit(cs_DciDlInfoExplicit(6,

                                                                                                             dci_1A,

                                                                                                             ra_2_Localised,

                                                                                                             1,

                                                                                                             5,{v_RVList[i]})),//@sic R5-120268 sic@

                                                                  v_SpsConfigDL, true))); //Set NDI bit as 1

        DRB.send (cads_DRB_COMMOM_REQ_MAC_PDU_NoCRNTI_Grant  (eutra_Cell1,

                                              tsc_RbId_DRB2,

                                              cs_TimingInfo(v_TimingY),

                                              cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID( tsc_LchId_DRB2, v_EncodedRlcPdu1)),

                                              cs_HarqProcessAssignment_Specific(v_HarqProcId)));

      }

    //@siclog "Step 21" siclog@

    // SS PDCCH for dl_sps explicit release

    v_TimingY := f_EUTRA_TimingInfoSFN_Add(v_TimingP,3); 

    v_ExpectedTiming := f_EUTRA_TimingInfoSFN_Add(v_TimingY,1);

    v_ExpectFrameNumber7 := v_ExpectedTiming.SFN.Number;
    v_TimingY.Subframe.Number := 9;

    f_SS_SPS_PDCCH_ExplicitRelease(eutra_Cell1, cs_TimingInfo(v_TimingY), tsc_SPS_RNTI, dci_1A);

    //@siclog "Step 23" siclog@

    v_TimingP := f_EUTRA_TimingInfoSFN_Add(v_TimingP, (v_TimingP.Subframe.Number + 2*tsc_SPS_SchedInterval)/10);
    //@sic R5-120268 sic@

    v_TimingP.Subframe.Number := (v_TimingP.Subframe.Number + tsc_SPS_SchedInterval) mod 10;

    v_EncodedRlcPdu1 := f_RLC_PDU_Encvalue (cs_RLC_UMD_1PDU(6,

                                                            f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN6, crs_PDCP_SDU_L36)))));

    DRB.send (cads_DRB_COMMOM_REQ_MAC_PDU_NoCRNTI_Grant (eutra_Cell1,

                                                         tsc_RbId_DRB2,

                                                         cs_TimingInfo(v_TimingP),

                                                         cs_MAC_PDUList_1(cs_MAC_PDU_NoPadding_RLCPDU_LCID(tsc_LchId_DRB2, v_EncodedRlcPdu1))));

    v_TimingP.Subframe.Number := (v_TimingP.Subframe.Number + 5) mod 10;


    v_TimingP := f_EUTRA_TimingInfoSFN_Add(v_TimingP, ((v_TimingP.Subframe.Number + 5) mod 10)); 
    f_SS_DeactivateSPS_Grant(eutra_Cell1, cs_TimingInfo_SubFrameOffset(v_TimingP.SFN.Number, v_TimingP.Subframe.Number, v_TimingP.HSFN.Number));  // @sic R5w160204r1 sic@

    //@siclog "Steps 25 - 26" siclog@

    v_TimingP := f_EUTRA_TimingInfoSFN_Add(v_TimingP, ((v_TimingP.Subframe.Number + tsc_SPS_SchedInterval)/10));
    v_ExpectFrameNumber8:= v_TimingP.SFN.Number;

    v_TimingP.Subframe.Number := (v_TimingP.Subframe.Number + tsc_SPS_SchedInterval) mod 10;

    f_SS_ActivateSPS_Grant (eutra_Cell1,

                            cs_TimingInfo(v_TimingP),

                            cs_DL_SPSInfo (tsc_SPS_RNTI,

                                           cs_SpsAssignmentDL(cs_DciDLInfo_Explicit(cs_DciDlInfoExplicit(3,

                                                                                                         dci_1A,

                                                                                                         ra_2_Localised,

                                                                                                         8,

                                                                                                         5,{v_RVList[0]})),

                                                              v_SpsConfigDL)));

    v_EncodedRlcPdu1 := f_RLC_PDU_Encvalue (cs_RLC_UMD_1PDU(6,

                                                            f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN6, crs_PDCP_SDU_L50)))));

    DRB.send (cads_DRB_COMMOM_REQ_MAC_PDU_NoCRNTI_Grant (eutra_Cell1,

                                                         tsc_RbId_DRB2,

                                                         cs_TimingInfo(v_TimingP),

                                                         cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID( tsc_LchId_DRB2, v_EncodedRlcPdu1))));

    //@siclog "Step 30" siclog@

    v_TimingY := f_EUTRA_TimingInfoSFN_Add(v_TimingP,1);
    v_ExpectFrameNumber9 := v_TimingY.SFN.Number;

    v_TimingY.Subframe.Number := 4;

    //This is to guarantee that HARQ ACK for RLC PDU containing the RLC ACK for RRC connection reconfiguration happens to be in the same frame as step 33

    f_SS_RB_Reconfig_NotAck_NextPDU(eutra_Cell1, tsc_RbId_SRB1);

    f_SendRRC_ConnectionReconfiguration_SPS_Config(eutra_Cell1,

                                                   tsc_RRC_TI_Def,

                                                   cs_TimingInfo(v_TimingY),

                                                   cs_SPS_Config_DL(omit, cs_SPS_ConfigDL_Release));

    // Deactivate SPS Grant 10 ms after transmission of RRC Connection Reconfig releasing SPS grant.

    f_SS_DeactivateSPS_Grant(eutra_Cell1, cs_TimingInfo_SubFrameOffset( (v_TimingY.SFN.Number + 1) mod 1024, v_TimingY.Subframe.Number, ((v_TimingY.HSFN.Number + (v_TimingY.SFN.Number + 1)/1024)mod 1024))); // @sic R5w160204r1 sic@

    //@siclog "Step 32" siclog@

    v_TimingP :=  f_EUTRA_TimingInfoSFN_Add(v_TimingP, ((v_TimingP.Subframe.Number + 2 *tsc_SPS_SchedInterval)/10));
    v_ExpectFrameNumber10:= v_TimingP.SFN.Number;

    v_TimingP.Subframe.Number := (v_TimingP.Subframe.Number + tsc_SPS_SchedInterval) mod 10;

    v_EncodedRlcPdu1 := f_RLC_PDU_Encvalue (cs_RLC_UMD_1PDU(7,

                                                            f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN7, crs_PDCP_SDU_L50)))));

    // Note as UE has no configured SPS-RNTI, transmission of grant by SS will also be neglected by conforment UE

     f_SS_ActivateSPS_Grant (eutra_Cell1,

                            cs_TimingInfo(v_TimingP),

                            cs_DL_SPSInfo (tsc_SPS_RNTI,

                                           cs_SpsAssignmentDL(cs_DciDLInfo_Explicit(cs_DciDlInfoExplicit(3,

                                                                                                         dci_1A,

                                                                                                         ra_2_Localised,

                                                                                                         8,

                                                                                                         5,{v_RVList[0]})),

                                                              v_SpsConfigDL)));

    DRB.send (cads_DRB_COMMOM_REQ_MAC_PDU_NoCRNTI_Grant (eutra_Cell1,

                                                         tsc_RbId_DRB2,

                                                         cs_TimingInfo(v_TimingP),

                                                         cs_MAC_PDUList_1(cs_MAC_PDU_NoPadding_RLCPDU_LCID( tsc_LchId_DRB2, v_EncodedRlcPdu1))));

    // Deactivate SPS Grant

    v_TimingP := f_EUTRA_NB_TimingInfoAdd (v_TimingP, 5); //@sic R5s120119 sic@

    f_SS_DeactivateSPS_Grant(eutra_Cell1, cs_TimingInfo( v_TimingP));

    //@siclog "Step 3" siclog@

    t_Watchdog.start;

    SYSIND.receive(car_UL_HARQ_IND(eutra_Cell1, cr_TimingInfo(v_ExpectFrameNumber1, v_ULHARQ_SubFrame), ack));

    // with DL sub frame 0, the Ack shall be receieved in same Frame

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 3");

    //@siclog "Step 5" siclog@

    SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, cr_TimingInfo(v_ExpectFrameNumber2, v_ULHARQ_SubFrame), ack));

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 5");

    //@siclog "Step 8" siclog@

    SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, cr_TimingInfo( v_ExpectFrameNumber3, v_ULHARQ_SubFrame), ack));

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 8");

    //@siclog "Step 10" siclog@

    // Taken care in default handler

    //@siclog "Step 12-14 Void" siclog@

    //@siclog "Step 15" siclog@

    SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, cr_TimingInfo(v_ExpectFrameNumber4, v_ULHARQ_SubFrame), ack));

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 15: UE sent HARQ ACK ");

    //@siclog "Step 17" siclog@

    SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, cr_TimingInfo(v_ExpectFrameNumber5, v_ULHARQ_SubFrame), ack));

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 17: UE sent HARQ ACK ");

    //@siclog "Step 19a " siclog@

    SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, cr_TimingInfo(v_ExpectFrameNumber6, v_ULHARQ_SubFrame), nack));

    //@siclog "Step 19b-19c" siclog@

    // MAC PDU retransmision and SPS grant retransmission automatically performed by SS

    //@siclog "Step 20" siclog@

    alt {

      []SYSIND.receive(car_UL_HARQ_IND(eutra_Cell1, ?, ack))

        {

          v_Ack_Count := v_Ack_Count +1;

          if ((v_Ack_Count + v_Nack_Count) < 3) {

            repeat;

          }

          else {

            f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 20: UE sent HARQ ACK ");

          }

        }

      []SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, ?, nack))

        {

          v_Nack_Count := v_Nack_Count + 1;

          if ((v_Ack_Count + v_Nack_Count) < 3) {

            repeat;

          }

          else if (v_Ack_Count == 0) {

            f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 20: UE did not send HARQ ACK");

          }

          else {

            f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 20: UE sent HARQ ACK ");

          }

        }

    }

    //@siclog "Step 22" siclog@

    SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, cr_TimingInfo( v_ExpectFrameNumber7,v_ULHARQ_SubFrame1), ack));

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 22: UE sent HARQ ACK ");

    //@siclog "Step 24" siclog@

    // taken care in default handler

    //@siclog "Step 27" siclog@

    SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, cr_TimingInfo(v_ExpectFrameNumber8,v_ULHARQ_SubFrame), ack));

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 27: UE sent HARQ ACK ");

    //@siclog "Steps 28 - 29 void" siclog@

    //@siclog "Steps 31 - 33" siclog@

    alt {

      [] SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell1, cr_508_RRCConnectionReconfigurationComplete(tsc_RRC_TI_Def)))

        {

        }

      [] SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, cr_TimingInfo( v_ExpectFrameNumber9,v_ULHARQ_SubFrame), ack))

        {

          // ack for RRC Connection Reconfiguration PDU.

          repeat;

        }

      []SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, cr_TimingInfo( v_ExpectFrameNumber10,v_ULHARQ_SubFrame), ?))

         {

           f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 33: UE is sending HARQ ACK or NACK");

         }

    }

    alt {

      []SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, cr_TimingInfo( v_ExpectFrameNumber10,v_ULHARQ_SubFrame), ?))

        {

          f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 33: UE is sending HARQ ACK or NACK");

          t_Watchdog.stop;

         }

      [] SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, ?, ack))

        {

          // ack for RLC status PDU for RRC Connection Reconfiguration completePDU.

          repeat;

        }

      [] t_Watchdog.timeout

        {

          f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 33: UE is not sending HARQ ACK or NACK ");

        }

     }

    //test body ends

    f_EUTRA_TestBody_Set(false);

    ///////////////////////////////////////////////////////////////////////////////////

    //      Post Amble

    //////////////////////////////////////////////////////////////////////////////////

    // to configure SS to stop report reception of HARQ ACK or NACK

    f_SS_ConfigUL_HARQ_IndMode (eutra_Cell1,tsc_L1Mac_IndicationMode_Disable);

    f_SS_Config1TM_DRB_NoMACHeader(eutra_Cell1, tsc_RbId_DRB1,cs_MAC_TestMode_NormalMode);

    // To deactivate test loop mode before RRC release

    //@sic R5-103847 Deactivate test loop and open test loop is removed sic@

    // Release RRC Connection and Switch off

    f_EUTRA_Postamble(eutra_Cell1, E3_TESTMODE);//@sic R5-103875 sic@

  } // end of 7.1.3.2

}

…
MCC 160 Implementation

	//@siclog "Step 4" siclog@

    v_TimingY := f_EUTRA_NB_TimingInfoAdd (v_TimingY, tsc_SPS_SchedInterval); //@sic R5s180216 sic@

// v_TimingY.SFN.Number := (v_TimingY.SFN.Number + ((v_TimingY.Subframe.Number + tsc_SPS_SchedInterval)/10)) mod 1024;

    v_ExpectFrameNumber2 := v_TimingY.SFN.Number;

    v_EncodedRlcPdu1 := f_RLC_PDU_Encvalue(cs_RLC_UMD_1PDU(1,

                                                           f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN1, crs_PDCP_SDU_L50)))));

    DRB.send (cads_DRB_COMMOM_REQ_MAC_PDU_NoCRNTI_Grant(eutra_Cell1,

                                                        tsc_RbId_DRB2,

                                                        cs_TimingInfo(v_TimingY),

                                                        cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID( tsc_LchId_DRB2, v_EncodedRlcPdu1))));

    //@siclog "Steps 6 - 7" siclog@


v_TimingP := f_EUTRA_NB_TimingInfoAdd (v_TimingY, (tsc_SPS_SchedInterval - tsc_SF_Before)); //@sic R5s180216 sic@
    //v_TimingP.SFN.Number := (v_TimingY.SFN.Number + ((v_TimingY.Subframe.Number + tsc_SPS_SchedInterval- tsc_SF_Before)/10)) mod 1024;

    v_ExpectFrameNumber3 := v_TimingP.SFN.Number;

    v_TimingP.Subframe.Number := v_TimingY.Subframe.Number;

    v_TimingP.HSFN.Number := v_TimingY.HSFN.Number;  //@sic R5s160738 sic@

    f_SS_ActivateSPS_Grant (eutra_Cell1,cs_TimingInfo(v_TimingP),

                            cs_DL_SPSInfo (tsc_SPS_RNTI,

                                           cs_SpsAssignmentDL (cs_DciDLInfo_Explicit (cs_DciDlInfoExplicit(3,

                                                                                                           dci_1A,

                                                                                                           ra_2_Localised,

                                                                                                           8,

                                                                                                           5,{v_RVList[0]})),//@sic R5-120268 sic@

                                                               v_SpsConfigDL)));

    v_EncodedRlcPdu1 := f_RLC_PDU_Encvalue (cs_RLC_UMD_1PDU(2,

                                                            f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN2, crs_PDCP_SDU_L50)))));

    DRB.send (cads_DRB_COMMOM_REQ_MAC_PDU_NoCRNTI_Grant (eutra_Cell1,

                                                         tsc_RbId_DRB2,

                                                         cs_TimingInfo(v_TimingP),

                                                         cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID( tsc_LchId_DRB2, v_EncodedRlcPdu1))));

    //@siclog "Step 9" siclog@

    v_TimingY := f_EUTRA_NB_TimingInfoAdd (v_TimingY, tsc_SPS_SchedInterval); //@sic R5s180216 sic@

//v_TimingY.SFN.Number := (v_TimingY.SFN.Number + ((v_TimingY.Subframe.Number + tsc_SPS_SchedInterval)/10)) mod 1024;

    v_EncodedRlcPdu1 := f_RLC_PDU_Encvalue (cs_RLC_UMD_1PDU(3,

                                                            f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN3, crs_PDCP_SDU_L50)))));

    DRB.send (cads_DRB_COMMOM_REQ_MAC_PDU_NoCRNTI_Grant (eutra_Cell1,

                                                         tsc_RbId_DRB2,

                                                         cs_TimingInfo(v_TimingY),

                                                         cs_MAC_PDUList_1(cs_MAC_PDU_NoPadding_RLCPDU_LCID( tsc_LchId_DRB2, v_EncodedRlcPdu1))));

    //@siclog "Step 10a " siclog@

    // Automatically taken care by SS

    //@siclog "Step 10a - 11" siclog@


v_TimingP := f_EUTRA_NB_TimingInfoAdd (v_TimingP, tsc_SPS_SchedInterval); //@sic R5s180216 sic@
    //v_TimingP.SFN.Number := (v_TimingP.SFN.Number + ((v_TimingP.Subframe.Number + tsc_SPS_SchedInterval)/10)) mod 1024;

    v_ExpectFrameNumber4 := v_TimingP.SFN.Number;

    v_EncodedRlcPdu1 := f_RLC_PDU_Encvalue (cs_RLC_UMD_1PDU(3,

                                                            f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN3, crs_PDCP_SDU_L50)))));

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                                         tsc_RbId_DRB2,

                                                         cs_TimingInfo(v_TimingP),

                                                         cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID( tsc_LchId_DRB2, v_EncodedRlcPdu1))));

    //@siclog "Step 16" siclog@

    v_TimingP := f_EUTRA_NB_TimingInfoAdd (v_TimingP, tsc_SPS_SchedInterval); //@sic R5s180216 sic@

//v_TimingP.SFN.Number := (v_TimingP.SFN.Number + ((v_TimingP.Subframe.Number + tsc_SPS_SchedInterval)/10)) mod 1024;

    v_ExpectFrameNumber5 := v_TimingP.SFN.Number;

    v_EncodedRlcPdu1 := f_RLC_PDU_Encvalue (cs_RLC_UMD_1PDU(4,

                                                            f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN4, crs_PDCP_SDU_L50)))));

    DRB.send (cads_DRB_COMMOM_REQ_MAC_PDU_NoCRNTI_Grant (eutra_Cell1,

                                                         tsc_RbId_DRB2,

                                                         cs_TimingInfo(v_TimingP),

                                                         cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID( tsc_LchId_DRB2, v_EncodedRlcPdu1))));

    //@siclog "Step 18 - 19" siclog@

    v_TimingP := f_EUTRA_NB_TimingInfoAdd (v_TimingP, tsc_SPS_SchedInterval); //@sic R5s180216 sic@

//v_TimingP.SFN.Number:= (v_TimingP.SFN.Number + ((v_TimingP.Subframe.Number + tsc_SPS_SchedInterval)/10)) mod 1024; // app 40 ms in future

    v_ExpectFrameNumber6 := v_TimingP.SFN.Number;

    /* HARQ Process ID = [floor(CURRENT_TTI/(Downlink Semi-Persistent Scheduling Interval))] modulo Number of Configured SPS Processes, */

    v_HarqProcId :=   ( ( (v_TimingP.SFN.Number  * 10)  + v_TimingP.Subframe.Number) /tsc_SPS_SchedInterval )  mod v_ConfHarqProcess ;

    f_SS_ActivateSPS_Grant (eutra_Cell1,cs_TimingInfo(v_TimingP),

                            cs_DL_SPSInfo (tsc_SPS_RNTI,

                                           cs_SpsAssignmentDL (cs_DciDLInfo_Explicit (cs_DciDlInfoExplicit(6,

                                                                                                           dci_1A,

                                                                                                           ra_2_Localised,

                                                                                                           1,

                                                                                                           5,{v_RVList[0]})),

                                                               v_SpsConfigDL)));

    // Nprb = 1, Imcs= Itbs =6; TBsize =328 =41 bytes

    v_EncodedRlcPdu1 := f_RLC_PDU_Encvalue (cs_RLC_UMD_1PDU(5,

                                                            f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN5, crs_PDCP_SDU_L36)))));

    DRB.send (cads_DRB_COMMOM_REQ_MAC_PDU_NoCRNTI_Grant (eutra_Cell1,

                                          tsc_RbId_DRB2,

                                          cs_TimingInfo(v_TimingP),

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID( tsc_LchId_DRB2, v_EncodedRlcPdu1)),

                                          cs_HarqProcessAssignment_Specific (v_HarqProcId)));

    //@siclog "Step 19b - 19c" siclog@

    for (i:=1; i< 4; i:=i+1) //Scheduled 3 retransmissions assuming worst case.

      {

        v_TimingY := f_EUTRA_NB_TimingInfoAdd (v_TimingP, i * v_RetransSchInt);

        f_SS_ActivateSPS_Grant(eutra_Cell1,cs_TimingInfo(v_TimingY),

                               cs_DL_SPSInfo (tsc_SPS_RNTI,

                                              cs_SpsAssignmentDL (cs_DciDLInfo_Explicit(cs_DciDlInfoExplicit(6,

                                                                                                             dci_1A,

                                                                                                             ra_2_Localised,

                                                                                                             1,

                                                                                                             5,{v_RVList[i]})),//@sic R5-120268 sic@

                                                                  v_SpsConfigDL, true))); //Set NDI bit as 1

        DRB.send (cads_DRB_COMMOM_REQ_MAC_PDU_NoCRNTI_Grant  (eutra_Cell1,

                                              tsc_RbId_DRB2,

                                              cs_TimingInfo(v_TimingY),

                                              cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID( tsc_LchId_DRB2, v_EncodedRlcPdu1)),

                                              cs_HarqProcessAssignment_Specific(v_HarqProcId)));

      }

    //@siclog "Step 21" siclog@

    // SS PDCCH for dl_sps explicit release


// app 35 ms in future

    v_TimingY := f_EUTRA_NB_TimingInfoAdd (v_TimingP, 35); //@sic R5s180216 sic@

//v_TimingY.SFN.Number := (v_TimingP.SFN.Number + 3) mod 1024; 


//v_TimingY.Subframe.Number := 9;

    v_ExpectFrameNumber7 := (v_TimingY.SFN.Number + 1) mod 1024;

    f_SS_SPS_PDCCH_ExplicitRelease(eutra_Cell1, cs_TimingInfo(v_TimingY), tsc_SPS_RNTI, dci_1A);

    //@siclog "Step 23" siclog@

     v_TimingP := f_EUTRA_NB_TimingInfoAdd (v_TimingP, (2* tsc_SPS_SchedInterval)); //@sic R5s180216 sic@

//v_TimingP.SFN.Number := (v_TimingP.SFN.Number + ((v_TimingP.Subframe.Number + 2 *tsc_SPS_SchedInterval)/10)) mod 1024; // app 80 ms in future

    //@sic R5-120268 sic@

    //v_TimingP.Subframe.Number := (v_TimingP.Subframe.Number + tsc_SPS_SchedInterval) mod 10;

    v_EncodedRlcPdu1 := f_RLC_PDU_Encvalue (cs_RLC_UMD_1PDU(6,

                                                            f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN6, crs_PDCP_SDU_L36)))));

    DRB.send (cads_DRB_COMMOM_REQ_MAC_PDU_NoCRNTI_Grant (eutra_Cell1,

                                                         tsc_RbId_DRB2,

                                                         cs_TimingInfo(v_TimingP),

                                                         cs_MAC_PDUList_1(cs_MAC_PDU_NoPadding_RLCPDU_LCID(tsc_LchId_DRB2, v_EncodedRlcPdu1))));


f_SS_DeactivateSPS_Grant(eutra_Cell1, cs_TimingInfo_SubFrameOffset(v_TimingP.SFN.Number, v_TimingP.Subframe.Number + 5, v_TimingP.HSFN.Number));  // @sic R5w160204r1 sic@

    //@siclog "Steps 25 - 26" siclog@


// app 40 ms in future

    v_TimingP := f_EUTRA_NB_TimingInfoAdd (v_TimingP,  tsc_SPS_SchedInterval); //@sic R5s180216 sic@

//v_TimingP.SFN.Number := (v_TimingP.SFN.Number + ((v_TimingP.Subframe.Number + tsc_SPS_SchedInterval)/10)) mod 1024; 

    //v_TimingP.Subframe.Number := (v_TimingP.Subframe.Number + tsc_SPS_SchedInterval) mod 10;


v_ExpectFrameNumber8:= v_TimingP.SFN.Number;

    f_SS_ActivateSPS_Grant (eutra_Cell1,

                            cs_TimingInfo(v_TimingP),

                            cs_DL_SPSInfo (tsc_SPS_RNTI,

                                           cs_SpsAssignmentDL(cs_DciDLInfo_Explicit(cs_DciDlInfoExplicit(3,

                                                                                                         dci_1A,

                                                                                                         ra_2_Localised,

                                                                                                         8,

                                                                                                         5,{v_RVList[0]})),

                                                              v_SpsConfigDL)));

    v_EncodedRlcPdu1 := f_RLC_PDU_Encvalue (cs_RLC_UMD_1PDU(6,

                                                            f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN6, crs_PDCP_SDU_L50)))));

    DRB.send (cads_DRB_COMMOM_REQ_MAC_PDU_NoCRNTI_Grant (eutra_Cell1,

                                                         tsc_RbId_DRB2,

                                                         cs_TimingInfo(v_TimingP),

                                                         cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID( tsc_LchId_DRB2, v_EncodedRlcPdu1))));

    //@siclog "Step 30" siclog@


v_Timingy := f_EUTRA_NB_TimingInfoAdd (v_TimingP,  10 ); //@sic R5s180216 sic@
    //v_TimingY.SFN.Number := (v_TimingP.SFN.Number + 1) mod 1024;

    v_ExpectFrameNumber9 := v_TimingY.SFN.Number;

    v_TimingY.Subframe.Number := 4; //This is to guarantee that HARQ ACK for RLC PDU containing the RLC ACK for RRC connection reconfiguration happens to be in the same frame as step 33

    f_SS_RB_Reconfig_NotAck_NextPDU(eutra_Cell1, tsc_RbId_SRB1);

    f_SendRRC_ConnectionReconfiguration_SPS_Config(eutra_Cell1,

                                                   tsc_RRC_TI_Def,

                                                   cs_TimingInfo(v_TimingY),

                                                   cs_SPS_Config_DL(omit, cs_SPS_ConfigDL_Release));

    // Deactivate SPS Grant 10 ms after transmission of RRC Connection Reconfig releasing SPS grant.

    f_SS_DeactivateSPS_Grant(eutra_Cell1, cs_TimingInfo_SubFrameOffset( (v_TimingY.SFN.Number + 1) mod 1024, v_TimingY.Subframe.Number, ((v_TimingY.HSFN.Number + (v_TimingY.SFN.Number + 1)/1024)mod 1024))); // @sic R5w160204r1 sic@

    //@siclog "Step 32" siclog@

    v_TimingP := f_EUTRA_NB_TimingInfoAdd (v_TimingP,  (2 *tsc_SPS_SchedInterval) ); //@sic R5s180216 sic@

//v_TimingP.SFN.Number := (v_TimingP.SFN.Number + ((v_TimingP.Subframe.Number + 2 *tsc_SPS_SchedInterval)/10)) mod 1024;//@sic R5-120268 sic@

    //v_TimingP.Subframe.Number := (v_TimingP.Subframe.Number + tsc_SPS_SchedInterval) mod 10;


v_ExpectFrameNumber10:= v_TimingP.SFN.Number;


